GR2 U5 HW Review 9
Name:  __________________________Date:  ___________

Solve the story problems.  Show your thinking.
1. [bookmark: _GoBack]Alice has 30 bags of trail mix.  16 bags have nuts in the trail mix.  The rest of the bags do not have nuts.  How many bags do not have nuts in them?





2. Jan has two brothers.  Jack is 53 inches tall and Alex is 46inches tall.  How much taller is Jack than Alex?





3. Andrew had 72 toy cars.  He gave 33 of them to his friend Tim.  How many toy cars does he have left?








